s — C——1
O O X
N
D 2 O N
4 \)
© )
=1 = e
= "PO® 1 =@© = ||
 E..q =i0E . 1L
© = :::: aozeswmzce [ oo [ ocoesooeon © i
[LEL ST o= "L'::l 'E"'"':“D::'gg NI T | - EE o
:um O D@0 EQOoe BoEQ [--L I | CLIST -1 ] ] DowE =
2 mom H2V "'"F.::JD“ © B“*‘"z O c
no ﬂl:l [-1-1-1-] a ggl -!ﬂ = 000 o
7 7 = Eisd & -
Q0O win1=@©0 = ={©@© =&
7\ -
0@ Q)| @)q
N "
ML T
C
| scale 1:5
\T—m N 7 =/
|+ Pole .- Pole
329 - B 269 -
1 T 1 1 D
1 )
o 4 e
E
LN
N
7o)
o0 F
(48]
UNLESS OTHERWISE SPECIFIED: ITS%LZE’T?CE PRINCIPE FINISH: DO NOT SCALE DRAWING
CHAMFER SHARP EDGES
gEENNIESRgLZ;S;ERANCE Eiﬁg%ﬂgN HRD ANGLE SHEET FORMAT:
LCE)'S:/;SPIHIDO?LACE TOLERANCES Material A2
X WELDING SYMBOL NEN EN 22553 6‘ TITLE:
1T 1T 1T 1T I I'l_|7 H | | | | H : V ROUGHNESS ACC. to NEN3434
NAME SIGNATURE DATE  |STATUS: 160 Ah BOHery Cabinet
DRAWN ~ M.B. 19-10-2012 Released
CHKD |  MF. 16-10-2013
DRAWING: ARTICLE NO. REVISION
o o e014m131319 40290202
Weight: gram SCALE:1:2 | SHEET 1 OF 2




17 16 |plain washer 7349 heavy_din plain washer 7349 heavy_din 50211421
16 8 |Binnenzesk M8x18 50211231 Binnenzesk M8x18 50211231
15 8 |Veerring VI M8 50211445 Veerring VZ M8 50211445
14 3 |Hi Power Cells Busbar 6014P131159 NOT_REQUIRED
13 4 |ThunderSky LYP-160AHA 6014P131300 NOT_REQUIRED
12 16 |Hexagon socket head cap screw ISO 4762 - M3 x 10 socket head cap screw 4762_din 50211239
11 2  |Spring lock washer DIN 6905 - 2.7 spring lock washer 2_din NOT_REQUIRED
10 8 |Bushbar Thundersky 160 Ah 6014P131321 40290183
9 4 |Doorvoertule 38 x 32 x 2 50209042 Doorvoertule 38 x 32 x 2 50209042
8 1 Thundersky Top Cover-160 Ah 6014P131316 40290280
7 2 [Thundersky Endcover Assy-Left Version-160 Ah 6014A131305 40290281
6 2 |Thundersky Accu-cel-160 Ah-Side panel 6014P131317 40290282
5 1 Thundersky PCB + Support Assy-160 Ah 6014A131301 NOT_REQUIRED
4 34 |Binnenzesk bout A2 M6 x 25 50211206 Binnenzesk bout A2 Mé x 25 |50211206
3 34 |ONDERLEGRING VI Mé 50211404 ONDERLEGRING VZ Mé 50211404
2 2 |Thundersky Endpanel-assy-160 Ah 6014A131307 NOT_REQUIRED
1 1 |[Thundersky Cabinet-Bottom-Assy-160 Ah 6014A131314 40290285
TEM | qry. DESCRIPTION DRAWING ARTICLE No.

UNLESS OTHERWISE SPECIFIED:
CHAMFER SHARP EDGES
GENERAL TOLERANCE

NEN ISO 2768-

TOLERANCE PRINCIPE
ISO 8015

FINISH:

PROJECTION : THIRD ANGLE
UNITS : mm

DO NOT SCALE DRAWING

SHEET FORMAT:

A2

FORM AND PLACE TOLERANCES Material:
NEN-ISO 1101
WELDING SYMBOL NEN EN 22553 TITLE:
ROUGHNESS ACC. fo NEN3634
NAME SIGNATURE DATE _[STATUS: 160 Ah Battery Cabinet
DRAWN| ~ MB. 19-10-2012 Released
CHK'D M.F. 16-10-2013
DRAWING: ARTICLE NO. REVISION
o o e014m131319 40290202
Weight: gram SCALE:1:6 | SHEET 2 OF 2




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View5


